Binary numbers - Worksheet 3
Converting base-10 numbers to base-2 (binary numbers)

—& <

The Iarges’r power of two that is less than
27 is 2"= 16 so we have one 16. Then from
the remaining 11 the largest power of 2 is

23- 8. So we have one 8 . We have 0 4s.
The remaining is 3, 2'= 2 and 20=1.
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Convert each base-10 number to base-2

1.Base-10 : 50 110 010

2. Base-10: 20

3. Base-10: 9

4. Base-10:23

5. Base-10:72  __ _ __ __ __ ____

6. Base-10 : 46

7. Base-10 : 100

8. Base-10 : 64

9. Base-10: 130  __ _ __ __ __ __ __ __
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